S1 Appendix

The standard error of the slope of the linear regression is given by:
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(A1)

where n is the number of measurements. The series in the denominator of (A1) can be rearranged to
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(A2)

The two series on the right side of (A2) can be simplified when introducing the period P between the measurements ti and ti+1:
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(A3a)
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(A3b)

Insertion of (A3a) and (A3b) into (A2) and considering that the time for the entire incubation is expressed as 
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(A4)

For large n (A4) converges to:
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(A5)

Insertion of (A5) into (A1) and introducing the measuring frequency 
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